YOV [ J1,Ks80 0 Jad Slay jod Jor

K+ K+

p(k+\):Zi':(Zi)‘
ZI +(k+Y)" —(ZI) +(k+Y)" —(il)r

V) lim Z(A\/T/n7)
Vi, ) @ i
=S =L fi

\
Ax=b—=—:>b=\ a=-
n n

x =1 f(xi)zA\ﬁ:f(x)zA&
n n

L i ) 11
Z/\ f—r :_[A\/;dx:—‘ X
i= o ) Y

nY’

A) Zn:aiézn:|ai|
i= i=
pO) =|a|<|a|
p(k)=|a +a, +---+a,]<|a |+|a|++

ENRIE™

p(k+)):|a +a, +--+a, +a.|<|a|+|a]

i=

1

+ | [+ [ay|

la +a, +--+a, +a.|<|al+|a|+
. I )

la, +a, ++a ]+ ag|<la]++a.] )

0.0= >4

n
< Z| |
1=\

Q) nmz a )

Z“:L(i)r L(n+\)n(vn+\)
=n" n" 1
.1 1 n*+2n 1
lim—+= ==

O Jad (5,595 Dby y03
>

2|\—Vn|:|\—'\|+|\—¢\|+|\—\Y|+|\—\o|
n=y
+ A =0+ AFNHIE WV =00

\;

ZA:(n‘ —n)=@-1)+(1=A)+(Yo—\)+

n=r

(36 —12) + (49 —14) + (64 —16) =133

)

N

\—N Y=g V=4 v =t =g
Y —— =t —+—+ =
=+ N V+HE o V+HA VN Ao

AP

A Yn—\ T \9/4 o
Ztan—z =tan= +tan— + tan— +
— ¢ ¢ 3 ¢

tan7—+tan9—7[+tan&+tan13—7Z =1
4 4 4 4

o)

j_.\.Ga)L_; ASMAQLM;LSJSMJ‘aALQM»‘L:

Y’ . -
:V"_i)b X:iT,X:i7 LLA;J.ALJ;

dole 1,C ol tan’ X =sec’ X+c¢
f(x)=tan" x g(x) =sec’ x
f'(x) =v(\+tan" x) tan x
g'(X)=v-sec’ x-tanx =
f'(x)=9'(x) = f(x) =g(x)+c
f()=g()+c=tan"(:)=sec’(:)+c
v=\+C c=-)

o3 =)
pO) =i =(Xi) =
pl) =20 =21y



V AR pges o2l Bl J / YOA

Ilmz ( ) x*dx=%x2

n—o0o

;.,) || Vo "'n‘b):

n
Vo
—[ H[\ Y+ +n}
nin

\
_J. _)(—X =+ X — =
V1
<) I|m—(\ Y +--+n")
n—>:>on
lim n(F(\“’ +Y° +---4n"))
) \
njx“ =NX— =00
- 1

A3l w g L X plad 53w 5 253 N(X) b
<) f(x) =h(x)-sinx
f (—x) = h(=x)sin(—x) = —h(x)sin x = —f (x)

o) J._'ah(x)sin xdx = —_[a h(x)sin xdx
u=-X=du=-dx
- *_h(~u)sin(-u)du = — [ “h(~u)-sinud

<) fah(x)sin xdx =

.[a h(x)sin xdx = —Ia h(x)sin xdx

= _[ah(x)sin xdx # Iah(x)sin X = -
= fa h(x)sin xdx =

<)

_[?nsecxsin X = f(=X) =sec(—x)-sin(-x) =

1

—secx sinx =+f (—x)

1) [ (X" —)dx =72
Yoo oY Y Yi
AX:—:— X.=~ X\:—:Xiz—
n n n n

f(x) =3(%i)2 —1:>j02(3x2 —1)dx

-a
= L):>Ax bza_»
n n

\
50

X = Hm—i{
n n

gl 1
n n

f(x)=x=S§, =_[‘xdx

X \
S,—| =-
"y Y
12 2% 32 (n—1)2
H)S":u_3+?+F+ + =
vy oY n—y)’
5n={—r+—y ( r)
nfn" n n
n—\\ ir
S, =Y —()=>M&=—"=— b=\ a=
i:\n n

F(x) = (') :f() ()

f(x)—x
\
\ \ \ \
Sn:JXYdX:—Xr = ——r=—
~ L Y v
1422440 &0
vY) lim - =i Z—G
n—oo n n—oo :1n

um=¢r:fm=w

" X \
_[xdx=— =—
~ T

V) ) lim — [\ +Y 4N ]—

n—o n

Sl

= )= T =) S 0 =x
n n n



YOA [ J1,&551 0 Jurd Soliy yed

u—t¢ du
U=Y¥X+t=>X=—, dx:—
v v
3

2

J-lou 4)\/— duz_J-lo( ~ %du

125 823|° 12 g @
=—(zu?2--u?) :—(— x102 —~x102)
95 3 A
y oA I
=——XtT+—xtT
0 Ay
v X'dx
YV) NX+Y=Uu=>X=U —-Y=>
J“‘\/x+\*
X"=(U"-y)" dx=vudu

2 9y\2
:.[Swdu :2j3(u4 +4—4u*)du
1 u 1

3

= 2(1u5 _Ae +4u)| =32
5 3

1

YY) J:|x—r|rdx
(r=x)

= [ =xdx+ [ (x=1)Tdx =—

-y

X 1
L=

¢

=301

) Fsin oX COS Y XdX

Vo, . Vot
=—I*(S|mx+sm/\x)dx=—(J.*smwxdx+
Yo Yo

z . \ g \ B
j‘3|nAxdx):——cosvx ——COSAX| =-
: ¢ Y Y
\

Y\‘)—<I dx < - LS Gk

Yo+ X )
[ dx=1n[20+ x| [ =1n12-1110 =0/ 0177
010+ X
1

6=O/166<0/0177<O/20

% (47 4

lim 2 (12 n(n+)@2n+1 n) =6
n—+o N n 6
1) [ (¢ +2x)dx =2
X =-Y
AX:E:: v vi
n n X\:—T+—...Xi:_v+_
n n

f(x)= (—2+ii)3 + 2(—2+3—i)
n n
nILm i(—2+ﬂ)3 +2(—2+%)x%

27| 54| l—12):

n(n+1) 54 n(n+1)(2n+1)
_{ ( )_ T

n—)+oo n

%X n(n+1)

—12n} =15/75
n

W) I_Y,(tr +vt)dt
fX)=x"+rx f(=xX)=—(t"+¥t")=—-1(x)

s dx y o -
\A) =—| r(rx=)) "dx =]
J.‘\/vx—\ \“J.‘
lxm :l\/;(,/v_\)
v ) v
Y
') J-;smtvdt
- cos't
7 —sint \ % Y
=—|" dt = +| =—=-)
Icos‘t cost | v

5 fx\/vx+zdx



V AR pges ol Bl Jo/ YO

T T _ v
Y Y s
- dx - dx
YY) | —=>| —
TX—Y X
\ \ - dx ~dx
VXG[—\‘—\]:>—>—:> > =
X—Y X TX—Y X
N
u)j
Xy
\ 3 vdx . o dx
VXe[\ \‘]:> >— = | => | —
X X—Y VX N X=¥

Rl

\ ) o dX o dX
vxelg ol ——>—= | —= =
X—Y X EX—Yy X

) J:i\/oﬂx—x‘ f(X)=vo+ix—X'

¢ =YX

et = X =Y e She
v
max = f(y)=v
min = f (¢) = v/o
= e 4]

f'(x) =

r) [, eostdt
max = f(:) =

< J'f,\/cost dt<rz

min:f(z L _£)=.
Y Y

3B -4)° =3t 420>t z%

i3
v o<j Vo—tx—Xx" <vxy
\

\
[~ L f(x):F

v8) f(x) =cosx[, vr)

Y7 . \Fd
I cos xdx = sinx| * =

\¥/4

T T

Yv) f(x)=sec’(x) {—— —}

Y v

T T v
J.i” sec’ (X)* = J.iﬁ (\+tan" x)dx =tanx|*,
i T i

¢

=\— (=) =Y

y
7

Y
YW ) =0-%" [-v,7]

[ 0-%rdx=-20-% =—1+2=r.
T ¢ ¢ ¢

Yo

— =0

¢

Ya) 3/(x +1)? [-1,7]

_[V" (x+\)*dx:Ir (x+Y)° BRIV

-\ 0 —

v
=YY X—
0

v+) f(X)=Yycosx—ysin x{,z}
Y

z z
J.* YCOS X — ¥'Sin X = YSsin X+ v cos X |-



Y&N [ J1,K 0 Jad Slay jod Jor

X +<x<a
V) f(x)= X 4
\_

a

[ F00dx =" (x)d+ [ f (x)x =

a 3
a ' V=X X'
jxdx+ a—dx=— +—(x——)
: a\—a al| ‘'-a .
a’ a’, a
==+ (C-a+ ) =1
Y \—ay Y Y

Y =x"-x y()=t¢

a1 £

j(x"—x)'dx=x——x—+c
14
y()=¢ e+ C=¢t=>C=¢
X' Xt
A
18

f¥) y'=cos' x—sinx y()=v
: . Yoo L
COS" X —SiN X =—X+-SiN" X+COSX +C

Y ¢
¥+ C=vV=C="1

Yooy
y = —X+-Sincx +Cos X +1
Yoot

fY) y”:\/; y() =y y'()="

J‘\/;dx:%\/7+c'

2 1
'D=1l=—-+c'=1=c==
y'® 3 3

I(1\/F+i)dx:lx\/;
¥ " r oo

v

Y

y(1)=2:>g><3+1+c:2 C:2—1
3 5 3

15
=—>< \/_+ X+

\o

o) y”=\/; y=)=-v, y'() =+

%)

e e e e 5 O(X) s
[ g(x)ex =

[} f(99()-dx= f(¢)-g(c) - (b—a)

[ 9)dx-g(c")b-2)

o
f(c’)-g(c)(b-a)=f(c)g(c")(b-a)=
f(c)g(c) = f(c)g(c")

{c.c'.c}ela,b]

W) y=a—x

S =Ir(cx—x*)dx=cxx—lx“} =\A
N \»v i

S, = lim ZS(E—'—)

n~>oo|ln

YA) Y =YX —)
S, :'[W\“\/X—\ -dx—#jW\/x—\dx:

2(%,/(x—1)3) :7 =§(64—8) =%><56

S, = lim ZE(Z 2L 1
nN—o0 -1 n n

Y4) Yy =X/ X+0
S= ix\/x+odx X+o6=U=du=dx

x=u—o=f(u—o)\/adu=
f(u: —oy/u)du =£\/u——\;*\/u_r
-G 2o - G -2V

Y Y \e Yoo ™
=YWEX——YYX—+AX——=IWX—=—
0 0 s g \o
. 5 5i
s, =lim"> (—\=+5)
n=eig N

Ja

e IR A
\°~)IV (——+—X"+—)dx =

\ AA X



V AR pges ol Bl Jo/ YPY

x dt 1 1 2
54)D x = + =
) J--X3+t2 3+x%> 3+x% 3+x°

55)ij3”)—_1du _ge XL, 2x-t
2xp+1 3x+1 2x+1

56)Dx_[% JtSintdt =

3x2xSin X — = VX SinVx
2Jx
57)1J.048x—x2:
e 1,] 4
— X - _
32 3 | 3

58)%]453x,/x2 ~16

v=x>-16 dvo=2xdx

5

l\)l—‘

60)_[1( 3y+2-2y?)dy=
2

1

81

2
— 2+2 RV = —
2y y 3y}1 24
2

61 4-y?-y?-2y=[ -2y’ -2y+4

2 5 avl
=——y -y +4y| =9
3 -2

62)J‘_l1 Cosnz xCosmz xd x =

. m=n
\ m=n

\
- Y
J.vx”dx=—'\/xi +c’
$

Y \
—+c = =>C'=——
¢

J.(zzl W—%l)dx— %/———x+c

-4 T
—+—+C=-Y Y+C=-¥
¢t

c=-5 ?\’/———x 5

tyv=yJgx J/ [,S]
3
V:jOA,IZg(x)dXX§+ ZQX%X%:

2
2 2

—4/20S =—V
3g3

fv)  m=2700(lb) a= (c=15)
t =105(s)
v=75(mph) v,=0 p="?
V +V «+ Vo
xt=>X=
Y Y
F =ma= F =2700a
w=Fx=w=1/5x10%a
w 1/5x10%a

P = P=

21
14x12 ﬂt}

x\o=>X=o01Y/0

Cos—
T 12 .

1[345, 1602
12

T

50)(50t -

12 8 1
51) 3§I N
(3xf =6v2

52)ijOXJ4+t6 =4+ x°

53)DXJ'X31/Sintdt — _/Sinx



YOV 1 J1,Ka

D0 Jerd Oliy el e

63) ' Sinnz xSinm 7z x dx
-1

o Mm#n
o

64)f(x)=x*Vx-3 [ab]=[7.12]
J-712X2\/X—3dx JX=3=u,x-3=u?

=x=u’+3 dx=du

leu +3)f xuduf “(u* +6u” +9)udu

12

7 u +6u° +9u du_

U 6U4 9u
- 4 n
6 4 2

7
|12

= (x-3) N 3(x-3)° . 9(x —3)
6 2 5

g

S|n2x

65)'[
=2ffsmx—fosde=2ﬁ (0

Cosxd x= f xdx=du
Cos x





